SA-I(CLASS-vI) 9/2015

SUBJECT :
Time : 3 hrs T : MATHEMATICS

General Instructions :

MM : 80

;i)) ::la?iu:;tidng are compulsory.
o Quesﬁ questiqns iiery carefully,
- guestions 1to 10 carry 1 mark edch :
tclesin ons 11 to 18 carry 2 marks eat;h
o guesti::ns 19 to 28 carry 3 marks each:
g ns 29 to 34 carry 4 marks each

i : 0.75 x 1000 :

Q2. I .
n the given ﬁgure if £1 = 60°, find £2

“ ; A

g;"» Solve : [(-50) + 10] =5
- Arectangle is 7
i cm long and 4 cm
wide. Find its ar
ea.

g‘l 2 0
g : »

6. Find the product : —x[ =32
13 \ 25

Q7. Find: (-1)x 2 x (-3) x (-1)

Q8. Checkwhether
ether a triangle Sl
wi owing
ornot:3cm, 3 cm and 8 fcl;the following sides is possible

Q9. Solve:g-.nz
7 2

1)

QlO. Reduce 70

Q1l. (@)
Q12. Find the supplemen

s .
Q13. Asha had 51- m of ribb

Ql4. Draw a number line and repre

Ql7 If the are

-49
2 {0 the standard form.

tegers whose sum is -9.

sitive integers, whose difference is - .

Write a pair of negative in

(b) ~Writeapair of po

11. :
t of the following angles :

(@ 125° () 75°

sty :
on. She uses 2-5 m of ribban..
with her?

Find the length of ribbon left
sent the following rational

numbers on it:

7 s 2
@ 5 ® 3
Q15 Find the area of quadrilateral ABCD where BD = 44 cm,
AF =CE =7 cm. : A

(o
Q16. The lengths of two side

Between

fall? e i -
a-of the parallelogram is 24 cm? and height is

6 cm, find its Abase,

are 6 cm and 8 cm.
the third side

s of a triangle
which two numbers can length of

Q18. Find four rational numbers between 5 and 2

2




926. (a) Cost of 1 m of cloth

is% 4.75. Find the cost onOm
- ofcloth. : )
(b)  Find the perimeter of the given figure,
: llel to m or
he given figure, check whether [ is para
© Q19. In the .
_iot. n F\&O A L 7 ‘
- e 007, Atree is _bro_ken at a height of 15 m from the ground and
\ N % e its top touches the ground at a distance of 12 m from the
= Yo > m 0 base of the tree, Find the original height of the tree.
b \ 928. The given figure shows two circles with the same centre.
in the box to make the statement The radius of the larger circle is 20 em ang the radius of
20. Use the sign of >, <or=in , the smaller circle js 10 cm. Find : 2 =
true. 517 @  thearea of the larger circle.
= 34 + 15 D s ; Vg .
@ 17 - (b)  the area of the smaller circje.
b -7-2+5 [] 9-2- : (¢}  the shaded area between the
21. Arrange in descending order : , two circles, (Take x = 3, 14) <
e 9 029. (a) Ina quiz, +5 marks are awarded for €very correct
5 ; - '3 : answer and (-3) for €very incorrect answer. Madhuri
o o answered 12 questions out of which only 7 answers
Q22. Convert : : 1, Yere correct.and 5. answers were incorrect. Find
kg : total f Madhuri
@ 20gto , the total score of Mg uri, \ :
" (b) 17cmto m is built along the border and insidea (b) The temperature of a city was 26°C on Wednesday.
Q23. A path 1.5 m wide 1: ;5 m. Find area of the path. The temperature rose by 2°C on Thursday and fe]y
square garden of side o suitable properties : : by 5°C on Friday. What was the temperature of the
Q24. Find the product, using su : city on Friday?
(@ -41x103 : | 1
(b) 25x10+25x(-12) : < Q30. Rajat’s monthly salary is 2 96000. He spends 7y of his
@25. In the given figure: - E ' 4 1
(@ What is thef N salary on food, 5 0 rent and — on education of poor
nt o 7
C(;;glg: e ﬁ O\ % children. Find :
Vi ¢ , .
(b) Write an angle S @
adjacent  to

/
how much money does he spénd on each part? : l
)  how much money is still left with him?
éAOD? 3 ar paif.
ing line
. air of angles form
(c) Writeonep

@
@) : 7



©  write one importance of education.

Qul. @ A gardener wants to fence 3 circular garden of radius
49 m. Find the length of rope he needs to purchage
if he makes 3 reunds of fence: Also, find the cost of

- 2
rope, if it costs ¥ 5 per metre.. (’I‘ake"m_; -7E) S
(b)  Write the place value of 3 jp 4.08.

Q932. In the given figure l]| m and P Il q, find the measure of
angles a, b, ¢ and .

L s -
<z va‘b

loo

i 3
'.‘ d\‘ \'ﬁct

Q33. Find Xin the following :




